Name:

SNC-1D1 Exam Review

Chemistry

The Nature of Matter
Vocabulary: boiling point, chemical, compound, condensation, density, evaporation, melting, melting point, qualitaflve, quantitative,
solidification, volume

1. A'descriptive property of a substance is a | J& _ property.

2. A numerical measurement for a substance is a QVUaM-WQb property.

3. Change of state from solid to liquid is _me A which . (requiresireleases) ENETEY.
4. Change of state from liquid to solid is SO\\A.\"’\JQ.QHOV\ which ge \eaS¢ S energy.

5. Change of state from liquid to gas is _evapo coion which _Pep €S energy.

6. Change of state from gas to liquid is ¢ an deinSarh o which releqges  energy.

7. The temperature at which a liquid changes to a gas is its pavting vas

8. The temperature at which a liquid changes to a solid is its_meix .m.,, gk

9. A pure substance, composed of 2 or more types of atoms bonded together isa s ek

10. A new substance with new properties is produced ina _cs e col change.

11. The amount of matter in an object is the _ yoluwme
12. The amount of mass an object has, per unit volume, is its ACV\S -.«\{

Atoms

Vocabulary; electrons, groups, ion, negative, neutral, neutrons, nucleus (x2), number (x2), penodlc, periods, positive, protons, valence
13. Elements are arranged in the gen od Q table in order of atomic __nuwmh ey’

14. Columns in the periodic table are _aypups , while rows are 4

15. The number of protons or the numbé? of electrons is the same as the atomic__pnuwmine v’

16. The atomic mass is equal to the number of _p, and the number of _ne utvronS .
17. Protons have a ? oG ve  charge and are found wy he wueleus

18. Neutrons have a_ng,rwal charge and are found jn —tWe e leus |

19. Electrons have a charge and are found _outénde the ,_W\c,u.(/&

20. The electrons in the ;jter shell for an atom are the _V alewep.  electrons,

21. An atom that has gained or lost electrons (and become charged) is calledan __ion .

22. What are the steps in the cycle of the Scientific Method? = OV Sewahon =y,
2. Lxperinnent 'W\eana,
24. Define: observation and inference. dre need ?rt ks M(/
25. Convert the following:
) 1500g = .5 kg b)4.55kg = HSKO g
c)l20cm = 0-i2 m d) 1250 mm =_42% cm
e)025L = 250 mL .
26. A sample of metal has a mass of 21.6 g, and a volume of 8.00 cm’. Calculate its density.
GIVEN: . _ " ANALYSIS/SOLUTION: STATEMENT:
v ) v 800 cv’® e %7
REQUIRED: . : a2l 6’.'*3 ferad
D=/ D= 23 Slewd ;
27. Classify the following properties as a qualitative property or a quantitative property.
a) the substance had a bad odour. aM
b) the boiling point of water is 100°C q uan
28. Classify the following as a physical property or a chemical property.
a) the acid reacts with the metal. ghenw~—
b) the boiling point of the alcohol is 79° C. 0iad $
1  :
29. Classify the following as a physical change or a chemical change.
a) souring of milk e
b) calcium reacts with water to produce hydrogen ehen—
c) dissolving salt in water VAPV &
— )

30. Classify each mixture as either a homogeneous solution (S) or heterogeneous mixture (M):

a) vinegar sS b) Raisin Bran cereal M ¢) oil and water M



31. Classify each of the following as an element or a compound.
a) SOx(g) ComMmpnw nd
b) Hx(g) element

. i dioxide
32. State the gas being identified in each of the following tests. options: hydrogen, oxygen, carbon dioxi

a) A flaming splint is extinguished. COoy
b) A flaming splint makes a “popping” sound. Ha
c) A glowing splint bursts into flame. O

33. Describe the composition of each compound by filling in the tables:
b) Compound: NaNOy

a) Compound: NH;
Type of atom Number of atoms Type of atom Number of atoms
nitrogen 1 Sodiwva |
hueioyen 3 N vDg R |
OX\ gen 3
34. An isotope of h;d:‘fva\gen has the following symbol: 1;3 Sn (2 marks)

a) What is the atomic number of the isotope? go b) Mass number? __ )\ A

c) # protons SO #electrons _S©  #neutrons LA

35. Complete the table to describe the properties of metals and non-metals.

Metal Non-metal
state (s/l/g) S (4.
conductivity (high/low) Vredo Lo
malleable? (Yy/N) y“ N\
lustrous? (Y/N) Y N
side of periodic table L (4
Forming | loses or gains electrons? oSS oM
an ion positive or negative? aociBve Voke Sk
| Q
36. a) Complete the chart using the Periodic Table.
Element Atomic # Mass # # protons # electrons # neutrons -
(round to nearest = (mass #) — (atomic #)
whole number) s
potassium A\ 39 \9 ) 20
phosphorus S 3) LS (S e

b) Draw Bohr-Rutherférd di fonthe 2 elements in {2},

Shell Maximum
#e's
1 2
2 8
3 8
4 18

%o,;,\?e'

ions.

¢) Now draw Bolir-,

u

37. Fillin the table:

Group Number | Group Name Unique Properties
! QUKL e oS MeSE reachve etz -
2 QQcoling O Ve A reoch re ety
17 : # — -
hokogens Mok reachut noA aated s
18 novle gepto unreach ve ]
U



38. Moving from t%tom within a group, atomicsize __ Cinereaseshle

increages/decreases). For non-metals, reactivity
39. Moving from left to right in a period, atomic size

(increa.\'es/ For non-metals, reactivity

Electricity

creases). For metals, reactivity

(increa.re:/d
(increases/gereasedT=F or metals, reactivity

ecreases).

Static Electricity

Vocabulary: attract, conductor, contact, current, electron, friction, grounding,

40.

Stohe

describes electricity that flows through a substance.

induction, insulator, negative, repel, shocks, static

electricity is due to a build up of charge on a substance, while __ v evvk

o oah v charge.
Two methods of producing static charge that require contact are o

\"One that does not require contact is called andud~anna

while opposite charges _ G-tac k-
e happen when a static charge is rapidly discharged. Removing a static charge safely is called

and

41. A substance that allows electricity to pass through itisa Qond wctov”
allow electricity to pass throughitisa _(n s \a~to
42. The particle that moves around in electricity is an 280 c—tvon, and it has a
43,
44, The law of electric charges: Like charges Me\
45. Electric gg
Qroua rL"M .
J S
Current Electricity

Vocabulary: amperes, current, ohms, power, renewable, resistance, voltage

electricity

while a substance that does not

46. The rate at which electrons travel through a substance at is called the Ciaceewt |, and is measured using the unit

47.
48.

49.
50.

51

52.

S3.
54.

55. a) Using symbols, draw a circuit containing:

e resS

The dif‘ference in potential energy between two points is called the o\ oace

The ability of a substance to slow down the flow of current through it is called‘?ts MS VS oA

- 3-cell battery

- voltmeter across the battery

- switch

- a resistor

- 2 lights in series

- ammeters in series with each light

of

,and is
measured using the unit owwS
A _PewoNdalnla form of energy can be replenished quickly.
The _ponce rating of an appliance measures the rate at which it consumes energy. It is usually
L] P
measured in watts.
- Use the electrostatic series to predict the substance that gains electrons and becomes ‘Materlal _d;échgrg'r_ tendency |
negatively-charged, and the substance that loses electrons and becomes positively- charged. ~ human skin
Situation Gains electrons | Loses electrons E:-tg:“r
a) An acetate rod is rubbed with silk. ShK acetate o, =
"human hair
b) An ebonite rod is rubbed with fur. B e - Lapd ﬂ;’:::n =
wool
“cat fur
Draw the circuit symbols for: silk
a) a2-cell battery =\ d) ammeter —@" paper
' cotton
b) aresistor —A/\— e) voltmeter —@'— f;"r:‘;:r
. . —0/9"' . rubber ballean {::.’,;'L‘“,:,’
c) alightbulb _@_ ) switch (open AND closed) T — ngan
polyester sk
What is the total voltage for 3 cells (each 1.5 V) connected in series? 4SSV ebonite =
Refer to the circuit diagram. Assume the resistors ar
a) How are the loads (bulbs) arranged? o avoa AL - 1=3A
b) Is the ammeter in series or parallel with tLe loads? _ Qevvek Q
c) Is the voltmeter in series or parallel with the cell? Pgm M
d) Is the switch open or closed? Opew @
e) What happens to the current going through one resistor if the other is
removed? _ guavrewt uyud T
f) What is the current at the cell? b A-
8) What is the voltage drop across each identical load? & \/ V=0V

w UL o,
b) What happens if one bulb is removed? o cisryrent Coun —fdr o~ 10 T lo L aod %O




56. When loads are added in series,
a) The potential difference for each load o increases wdecreases O stays tlﬁe sam:
b) The resistance in the circuit mxincreases D decreases O stays the same _

57. When loads are added in parallel,
c) The potential difference for each load o increases o decreases &stays the same
d) The resistance in the circuit 0 increases mxdecreases O stays the same
€) The current in each branch of the circuit o0 increases jyqdecreases O stays the same

58. The current in a circuit is 0.50 A, If the voltage in the circuit is 60 volts what is the resistance? (Ohm's Law)

GIVEN: ANALYSIS/SOLUTION: STATEMENT:
1:2504\ V=1 The ressStonce 8 V26 S
V= boV

REQUIRED: R= _\’f

R= 7
= O \
3 Z G \20
59. a) How much energy (in kW-h) does a 900-Watt stove use in a week if it is used for 1.5 hours each day?
GIVEN: ANALYSIS/SOLUTION: STATEMENT:
P=0 accew E= Pxik

- - T USes AMS W W
1t \Sh¥r3d= 105 W = (0900 ¥WYLIDS W)

o‘% sJU«J?/‘-{(\a/
REQUIRED: E 7 anuS vww

E= 7 ww W

b) If the price of electricity is 11 cents per kilowatt-hour, how much would the stove cost for that week?
cost=(AMS wwW) (1 & /xwh) = (0395 4

($lhon)
Space

Vocabulary: asteroid, big bang, constellation, Doppler, eclipse, fusion, geo, helio, helium, hydrogen, lunar cycle, meteor, meteorite,
meteoroid, phases, planet, red giant, revolution, rotation, solar nebula, Solar System, supernova

60. A_piowet is an object that orbits the Sun, is spherical, and dominates its orbit.

61. The ;‘urangement of planets and celestial bodies around our Sun is called the _ Q o\av  Suctewa )

62. The moon goes through g\r\aggs _everthe course of a month, This cycle is the Q’m war  cycle.

63. Pkation is spinning or an axis, while pevoluth is orbiting around something,

64. A wiexeprovd is a piece of rock flying through space. If puiled into Earth’s atmosphere it becomes a
Met eol » and the fragment that reaches Earth is called a_nae s ep ite

65. A(n) _oigtered is a large piece of rock that orbits the Sun.

66. A(n) ec,k'\.‘ose occurs when the moon, Sun, and Earth are perfectly aligned.

67. The _So\ar  nevulal (2 words) theory - Describes the formation of our solar system.

68. The _ \»\sn bawng (2 words) theory - Describes the formation of our universe.

69. The process‘if'lat causes stars to produce energy is nuclear FAS\ g s

70. The Earth is in the centre: The g€ o__ centric model of the solar system,

71. The Sun is in the centre: The Whe \« O centric model of the solar system.

72. A(n) _ConsSteilothon is a pattern formed by stars.
73. A star is made up of the gases Wy ol co e @\ and neluawn
74. The _Dg poler Effect is respon§ible for the "red shift" of the galaxies.
5. A SUpe. oo is an explosion that signals the “death” of a large star.
76. Medium-sized stars (like our Sun) eventually swell and cool down, forming _ Dol Grawn- . stars.
77. Put the following in order, from smallest (1) to largest (8):
Local Group 2 asteroid 4 planet S Sun
R universe —3 dwarf planet _b Milky Way _\  meteoroid

78. Define: astronomical unit; light-year. When is it appropriate to use each unit?

AU~ distovice Fom S 2 Cota.  waed W sElar zn.\btesz
LB = duskance Llebd Gowely L Qo woed outsde c‘%

79. When do we experience summer in the Northern Hemisphere, and why? 1
S Bied o oneld Hae St




80. Compare and contrast the gepcentric and heliocenttic models: what observations can be explained by both models?
What observations are in/c/m;]ict with the geocentrix\model?

2o un condng P can e

'Mbrzpcxahz, WS N
- PNases of veuwns

81. Identify the types of eclipse shown below:

Neon Aoan'y arbi fank
Sun .. """}@ e m
uimlna shaddow |;illlllll|:||l Madowy Lann T T
a)_ Solar b_ lunar
82. What is gravity? Describe the role of gravity in the formation of: .
a) the tides c) galaxies LR nokes
b) stars d) the orbits of celestial bodies

Ecology
Nutrient Cycling & Energy Flow

Vocabulary: abiotic, biosphere, biotic, carnivore, chain, community, decomposer, ecology, efficiency, energy, herbivore, nitrogen
omnivore, phosphorus, population

83. Ecolge is the study of relationships between organisms and organisms and the environment.
84. The region(s)where life exists on Earth. _ b 5c oW pro

85. The non-living factors in the environment. b, o~

86. The living components in an ecosystem. bior~e

87. A group of organisms of the same species living in the same area. O PO\ o e

88. All of the living organisms in a cerzain area, Comruw ity '

89. A plant eater is called 2 _WeAq.y ar e , and a meat eater isa_ Cavnwore

90. An organism that eats both meat and plants. _Oomun vore

91. An organism that feeds on dead erganiz material and returns materials to the environment o ROSEY

92. A food g -\ﬂ is linear representation of feeding relationships. .

93. As you proceed through the food chain there is a_\D % loss of energy in each step. This is called the trophic
ellicenty

94. Eutrophication is the result of adding too much ¢\ '\~%vo AN and _|Q Wog OWEAS 1o a lake or pond.

Populations

Vocabulary: carrying capacity, commensalism, exponentially, interspecific, intraspecific, mutualism, parasitism

95. A relationship where one organism benefits and the other is harmed. J‘Dara\&\h&w\

96. A relationship where both organisms benefit. _ v v a(LSnA

97. A relationship where one organism benefits and the other is not affected. Commwensa\im

98. Competition between individuals of the same species is ;‘V\‘kra&pec,\{—\‘g . If the individuals are from two
different species, the competition is wnrer§ peodg -

99. When introduced to a new environment, a popula'tion will first grow eYopreuhally

100.  The largest population of a species that an environment can support is the CACY (v 5 canac w—Lj

Biodiversity

Vocabulary: alien, dominant, keystone, sustainability, invasive

101, Sustairaladitu is a property that describes whether an ecosystem can be maintained
indefinitely.

102. A new species that is introduced to an area is called a(n) _QL\—QV\ species. If this new species is able
to successfully compete with native species for resources, it is called a(n) _ynyasiy e species.

103, A K.&gg S+#oae species is one that plays such an important role that the ecosystem depends on it.

104 A__domenant species is the most abundant species in an area.

105. What is biodiversity? What are some current threats to biodiversity? \gdce_ _olen:



M

b) Identify two common forms of precipitation:
o

| Ty apor o
106.  Water cycle . )
a) On the diagram, add the labels: precipitation; evaporation
_S.DDJAI—

Liquid water Water vapour

; rta?'rkaﬁ”"‘; ”
107.  Carbon cycle ' (corddunes \ D

a) On the diagram, add the labels: cellular respiration; photosynthesis

b) Also on the diagram, add the labels: energy is stored; energy is released Pncios ©. ‘s_{ M)
¢) What kind of living organism performs photosynthesis?

P\aM = . Pa Carbon Glucose
d) What k\l}l\]d of living organism performs cellular respiration? dioxide (COy) (CH09
a

LQEJ‘ ;‘.e,ko_qsopdl)

108. On the lines, write the word equation for photosynthesis. Why is cellular respiration its complementary process?

Qason dioxdp + wiate/ +-ﬁ§»«eqj > Slmcoso +Q)m‘c;cvx

109.  Refer to the food web to answer the Jfollowing questions.

Wwedged

Tailed Eagle
Kueiaburﬁ/’—_>
§ /' Rab b»\t

S ‘—-’)%’R 1 g

L
W A T

a) State two examples of herbivores from the food web. Qyasswep pec
b) State one example of a tertiary consumer from the foo
d) Classify each based on its trophic level in the food we
mouse _\° Conspmar
grass L NI
kookaburra'__ g+ et 27 consurre
wedged-tailed eagle “(D.p COAS WA -

~Mouse, yalloit
d-web eczle, Yaoyaleortee
b (producer, primary consumer, top consumer, etc.).

f) In which organism would pesticides accumulate at the highest concentration? What do we call this process?
Top Cons wmansy:
B N\W’RMW\ '




